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98

5.9

1990 1991 1992 1993 1994 1995 1996 1997 1998 | 90-98
%
(90-98 )

5.1% 4.5% 4.9% 4.4% 4.9% 4.6% 4.4% 4.2% 4.4%] -0.7% 39.3
1.1% 1.0% 1.0% 0.9% 0.8% 0.7% 0.8% 0.8% 0.7%] -0.3% 105.6]
0.6% 0.6% 0.6% 0.6% 0.5% 0.5% 0.5% 0.5% 0.5%] -0.1% 31.1
24.6% 24.5% 24.8%| 26.3% 26.3% 24.6% 23.9% 22.2% 21.9%] -2.7% 5.0
7.0% 6.9% 7.0% 7.0% 6.9% 7.1% 6.7% 6.5% 7.0% 0.0% 17.3
1.4% 1.3% 1.4% 1.4% 1.3% 1.2% 1.0% 1.0% 0.9%] -0.5% 63.5
1.9% 1.8% 1.7% 1.7% 1.7% 1.7% 1.6% 1.6% 1.7%) -0.2% 13211
5.3% 5.3% 5.9% 6.2% 6.2% 6.1% 6.2% 6.2% 6.5% 1.2% 168.5
2.5% 2.3% 2.4% 2.3% 2.4% 2.4% 2.4% 2.3% 2.3%) -0.2% 119.6]
4.0% 3.9% 3.9% 3.9% 4.1% 4.1% 4.0% 4.3% 3.8%] -0.2% 232.9
1.3% 1.3% 1.2% 1.0% 1.1% 1.3% 1.3% 1.5% 1.2%) -0.2% 71.8
32.0% 33.6% 32.5% 32.0% 32.0% 34.6% 35.9% 37.7% 37.9%) 5.9% 6.5
13.20 13.1%] 12.8% 12.3%] 11.9% 11.2%] 11.5% 11.4% 11.2%] -2.0% 36.1

1.45 64.0%
g 140 - 62.0%
N
(@]
O

135 | - 60.0%
— 130 -1 58.0%
< 125 -1 56.0%
8
5 GHGs/

120 -1 54.0%

115 1 1 1 1 1 1 1 1 520%
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98 30.8
20.8
1.3 1.2 1.2 1.3 2.4 3.2 2.6 4.0 2.8 2.8 3.0
1.3 3.1 2.6 2.3 3.2 4.0 3.5 7.6 8.0 8.9 9.1
1.9 2.1 1.6 1.4 1.9 2.1 2.2 2.9 3.8 3.6 3.9
3.8 5.1 5.5 4.8 7.0 8.1 8.3 10.0 12.4 11.9 13.3
5.3 5.6 4.9 5.0 6.3 5.4 9.2 12.1 13.1 10.9 13.1
6.4 5.2 5.2 7.8 6.5 8.8 6.7 11.1 10.9 9.3 9.3
3.8 10.6 7.6 4.1 5.8 8.1 8.1 11.7 11.5 14.3 14.4
11.0 11.4 11.0 10.8 12.6 15.0 16.8 19.7 21.6 20.8 22.7
14.3 12.6 13.7 17.5 17.3 20.3 20.6 24.9 28.2 30.8 33.2
5.4 4.7 4.4 3.6 5.6 6.0 6.6 8.6 9.1 10.3 10.7
0.1 0.2 1.2 5.2 7.1 5.6 3.7 2.8 1.7 2.3 1.5
3.1 3.1 2.6 2.3 2.8 3.0 3.0 4.3 4.1 4.6 4.9
5.7 6.4 6.0 6.2 7.4 8.6 9.0 11.6 12.4 13.1 14.1
x 100
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CO2 11,711 40,722[

tco2 ] 1 10 34
4,263 22,536[ t
coz2 ] 04 1.9
2,260
4,530 tCO2 ] 0.2 04
5,092 13,409 tCO2 ] 0.4 1.1
96 246[
tco2 ] 0.01 0.02
[ Co2] [1076kWh] [ C02]
-7,030 19,143 -904 8,667
1,300 1,300 1,300
2,410 5,250 4,553 8,926 3,867 12,569
2,260 4,530 2,260 4,530
-1,110 -2,220] 3,225 6,450 -78 3,069
5,170 10,340 5,170 10,340
300 96 246
3,000 12,170] 27,221 34,819 11,711 40,722
CO2

1,210,435] CO2 ]
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(_t-CO,)

[ /tC]

CGS -904 8,667 32,736 298,566
1,300 19,494
21,196
32,813
3,867 12,569
2,260 4,530
-78 3,069 39,126 275,504
10,340
96 246 510,919 944,428
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2001 10
3,758MW(1998 )
t-CO2
3_
-904 8,667 3-2
p20-21
-904 8,667 3-
’ 4-2, pl9
() () (B-A)(C)
1)0.33gCO2/kWh 1,000kW
G 2)0.61gCO2/kWh | -138(CO2
1) -138t
H 1) 3,930tCO2
A GHG 4,068 CO2 2) 5.330tC02 2) 1,262tCO2 5000
1998
1)
7,917Gcal 10,041Gcal 2,124Gcal
2)
() () ( )
(a) 19,000 1,116
1
(b) 750 0 300
(©) 6,450 10,115 3.6 Mcal 13
KWh 1.5 KWh
(d)
(a/d+b+c) 9,100 10,226 (A-B)(D) 1,126
D+ C) 1) 81,427 /t-CO2 1) 298,566 /t-C
' 2) 8,928 /[t-CO2 2) —32,736 [/t-C
2 2
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2001 10

t-CO2
3_
1,300 3-2
2010 10 p22-23
3_
1300 4-2,P19
() () (B-A)(C)
G
H 15,000kW
G 15,406tC0O2
GHG 31,840tCO2 47,247tC0O2
5,000
140,217Gcal 208,065Gcal 67,847Gcal
() () ( )
(a) 187,500 150,000 12.5
10 kw
b 4,500 4,500
(b) 3.6 Mcal 13
() 50,478 62,419 kWh 0.6
(d) kWh
(a/d+b+c) 73,728 81,919 (A-B)(D) | 8,191
(D+ ©) 5,317 /t-CO2 19,494 ht-C
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2001 10
100kW 1998
300kW
(2000
)
t-CO2
50 300kW
3-
-78 3,069 4-2
pl0-17
30
10
() () (B-A)(C)
G 1)0.33gC0O2/kWh 100kW  MGT-CGS
H 2)0.61gC0O2/kWh 1) 10tCO2 )
1) 185tCO2 |2)  74tCO2 3000
G GHG 195tC0O2 2) 269tCO2 1998
1)
860Gcal 1,150Gcal 290Gcal 2)
() () ( )
(a) 1000 70
10
b 45
(b) 3.6 Mcal
(©) 310 526 13 kWh 1.5
(d) kWh
(a/d+b+c) (A-B)(D)
0+ C) 1) 75,137 /t-CO2 1) 275,504 /t-C
' 2) 10,671 /t-CO2 2) —39,126 /t-C
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2001 10

t-CO2
3-
96 246 10 4-2
P21
() () (B-A)(C)
1)0.33gCO2/kWh
G 2)0.61gC0O2/kWh 1)330kgCO2
H 1)330kgCO2 2)610kgCO2 1000kWh kW
G GHG 2)610kgCO2 1998
1)
1000kWh 1000kWh 2)
() () ( )
(a) 100 100
(b) kw
© 15 15 kwWh
(d)
(a/d+b+c) 8.5 (A-B)(D) | 8.5
(D+ C) 1) 257,576 [t-CO2 1) 944,428 [t-C
' 2) 139,344 [t-CO2 2) 510,919 /t-C
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2001 10
(
)
t-CO2
() () (B-A)(C)
G
H
G 11,000
GHG 11,100t 22,100
285,000GJ 485,000GJ 200,000GJ (
() () (
(a)
(b)
(©)
(d)
(a/d+b+c) (A-B)(D)
(D+ C) /t-CO2 /t-C

30




2001 10
t-CO2
3-
10,340 4-2
2 p18
() () (B-A)(©)
G
H
G
GHG
() () ( )
(a)
(b)
()
(d)
(a/d+b+c) (A-B)(D)
(D+ C) t-CO2 t-C




2001 10
0,
t-CO2
3_
761 0-1 3-2
P26-27
s () () (B-A)(C)
¥ 10t/h
A 109  CO2 13
GHG 11,321 CO2 | 11,430tCO2 1.2
5,000
35,649Gcal 35,093Gcal 344Gcal
() () ( )
(@) 400
(b) 0 0 o, 400
©) 10,695 10,798 3.0  Mcal
(d) 10
(ald+b+c) 10,735 10,798 (A-B)D) | 63
(D= C) 5,781 /t-CO2 21,196 /t-C
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2001 10

30
97 ( )
t-CO2
2000
3-
6,830 oo
2005 15 2010 30 |P24-25
() () (B-A)(C)
G
H
G
GHG 324tCO2 648tCO2 324tC0O2 ( -
6,150GJ 12,300GJ )
(15 m3 ) (30 m3 ) 6,150GJ
() () ( )
(a) 1200 2500
(b) ( ) 1200 ( ) 13A
50 m3 15 md
(c) 370 50
(d) 15
(a/d+b+c) 290 (A-B)(D) 290
(D= C) 8,951 /t-CO2 32,813 /t-C
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2001 10
8.5
t-CO2
8.5
3,867 12,569 139'4'2
() () (B-A)(C)
G
H
G
GHG
() () (
(@) 2
(b)
(c)
(d)
(ald+b+c) (A-B)(D)
(D+ C) /t-CO2 It-C
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